(x-n)"*ly ) =T

Finding the equation of the circle is important!

1. Acircle has a radius of 2 and a center of (2, -3). Will the following points lie on the circle?
> OV :
298

a. (2,-5) b&"};/l)( ) ( "ng 2
3-2) =(-1+13) =
(2-2F +(-573)= 2 ot e = o "
o+4d = , TR Lo e &
oy Y 5= Nadside ©

2. Casey’s dartboard is a circle centered at the origin with a radius of 8 inches. He throws 3 darts:
) The first dart hits (=3, 5) |

(0,0) o
—_ - — | =
\p) The second dart hits (4, 8) ( X h) + ( v 1<)
) The third dart hits (2v/5, 2v1T) (E——’O’_) o [ﬂ _ 5 > _ ("ﬂ

Are his darts inside, outside, or on the board?

Cq ( 3- O) 4’(5’0) el b)("/ 0) " | (8«-()) =LY c,)é?\/——o> 4_(2/".0 LY

( 3) (s)l ("{) (S’) (2 +(Z 1 "64
g + 25 = 6LY e +GY = 64 He(5)  Ha1)
(.3'*:(\0‘7‘ 80 =6Y 20 +44 = 9
sid<e _
3. The new Gelo,:gla Dome is being built in the region w/ equ’ag;onuh dc\ %= Ll.
Lxe D +q2e20y4100 ()
x2 4+ y2 — 6x + 20y — 39,891 =0 ’J’/‘ 7" %Y 39,891+ 1 . /00
Several churches in the area are protesting that the church might interfere with their building:
X (x-3)7'+—[3+1o)"=qopoo

Mount Vernon Baptist is located at: (100,105)

~

X
Friendship Baptist Church is located at: (—174, —58)

(a) If the churches lie within the area of the new stadium, what should the Falcons do? -
VR (100 -3)*+(10s+I0% = 40,000

(b) How muchwouldbeafalr price? 22,634 = 40,000
Vel

(W\u
Foc : (-174-3) (-5Y «10)* = Hopoo
33][0%3 = """O' (o1 Ts)

4. The Space Race in the 1960’s between The Soviets and The Americans was a race to see who could
get a spacecraft to the moon first. The moon has a 2-dimensional region of:

|94, 4‘& (,sx‘r -
x% +y? +882x — 166y + 90,345 = 0 X % ggﬁ:\“ +_}‘ <t L/‘o A s 4-‘;(2(2'1?7
Russia shoots a rocket that lands at: (—100 80) j ( 3) [ 9%
: Cx +89 v Ly=93) =\, oz5—

USA shoots a rocket that lands at: (—400, —200)

Which country “won” the space race (Ianded on the moon)?

2
(Lussia® (—IDO+LH|Y'+[KD £3) = 1, 02§ usﬁ'-[-tloowa)“(-loo ¥2) %= 1], 02

l, #70= (|

b, 290 =[Il,025 —= 8l M, 0zs
V”‘“’"J wﬁ% owed shets 1S “%La fer (awdp o e Mdome
N\s(Y\- o M




Radivs
5. A furniture store (at the origin) advertises free delivery within a 50 mile radius from the store. If a customer
lives 28 miles east and 41 miles north of the store, does the customer qualify for free delivery?

(2%, 41) Cenltin & 4 SO
(a) What if they lived 30 miles west and 41 miles south? (x i< g) i (U 1 0 S 00
(3G 4
v

(30297 )™ 2500
334 + ((F24 = 2800 \ (
10,0%K = 2500 ondzide e avar!
(b) What about 50 miles west?

(-50,0)  (-50-2€)*+ (0-41)"=2500
GOSY + L%l = 2500
-

4,5 = 2500
B d o

6. Clowns are roaming around different areas of Acworth. One clown is at x% + 6x + y -31=0

\
And the other clown is roaming a center of (-2, 2) with a radius of 4 miles. X Hlxt 1, < V\ = Jhe O,

I e

Your friends house is at (3, -3)

Your house is at (6, 0) Coach Harrison’s house is at (2.3, 4.1)

Cl (6#3) > [p)=40 C\ (3+3) *g%\ € 1D c| (,z.sfaﬁ (41) =40
3 =40 ondside 3(";5,4 beele 2%.09 +1b.81= 40O
bt 449 =40
Co (6 (0y=1b NS

(e
LY+ e =1l 2_
Will anyone be attackedbyclowns? CZ ( 5*—& [ 5+Z) “‘D
el |l

Voo Heose e ol

£2 2.3+2\L*(%1P2Y:143
[5-949 +3F+.2{=)(

Y S“{YLQN\N\/ \/mr l’rlm H\VJX_,

Qu\mn&!
i
QLW O

_

=Sy Ty

etz

@(,KH%%
L Sefe ! @




